Unit 9: Fractions (2), Lesson 6 g
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e Work out the following.
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o Washing powder is sold in two sizes.
What is the total weight of the two boxes?

The total weight of the two boxes is [__\__E] kg.

o Kate is adding I3 2 and 4

She says, ‘I think I will add the wholes and the parts instead of converting
to improper fractions.’

Iio you agree with Kate? Explain your answer.
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f Unit 9: Fractions (2), Lesson 6

a Find the missing fractions in the working out @
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a) What number has Max finished on?

3 (6 6 |

e T = i
b) Max makes one more jump and lands on 12. How long ?N as his jum‘p?
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Which method do you prefer when adding 3 sand | 3 ?
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